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t. fir4{qr \ry$ft sqs frnmT{q Us< ft{t : 1x8=8

Answer the following as directed :

The word 'retaif is derived from the
word.

fiT
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A

@ cEr6q

Latin

@) s*
French

Itul s{tTkfl-
American

( lsa ffii <rR Bfre<t )
( Choose the correct answer )

(b) {Fr s'p fr? ii'

What is bar code?

(c) 6F qr+ qat-6r{-ffi-s ftrc-er< rrqu6f "iltrq frqtr

Write one difference between store
and non-store-based sellers.

(d.) -e-lTqf{ qbf g1t 6-"1EFTE {qFK a1r
fuqIr

Name a retail speciality market in
India.

(e) rQrsr 1.f mt frvr r

Write the fufl form of TeM.
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A 'flR{qcl "tfuiFnt' .-< ?qF q&E t

( {rA bE. t<q rrl )

Transportation man'agement' deals

with 

- 
( FiIl in the blank )

(g) {iq1q \flT q4|-tr{i<q "&(I 
<f<qlll?{ qBI

difference between

and unorganized

"rtr+l Fntt t

Write one

,i
1,1

orgarrized
retailing.

h) s36ffi <lfiql Efu TRcq

Walmart has tie-uP with

0 swq qff{fl86-< ?ffcs

Bharti EnterPrises

6, RER1 R6E< =r
Reliance Retail

(a, qfrgl ffi< Elg

Adirya Birla

6u,) BEK ?ms

TATA
( \sh ffii <tR €frs<l )

( Choose the correct answer )
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2. sq\e- ft{I fr 66qt ulRbR €q<rc DT ffi h{ :

4x4=L6

Write short notes on any four of the
following:

(a) 3trt <l<rlm erfB

Nature of retailing

Departmental store

(c) ttcq.E? ffir'qtqt
lnventory management

(d.) q(Tm s4l rr<{F

Organized retailing

(e) @srQrD(

Franchising

a ptr<tn-68

Supermarket

3. (a) 3rr <K{]T{ "rR',q{ ftz EWtstTE.+
<K{lT "iR6{.ls qq{' e-$ <i$$fr<
offi $F.llt T-{l r 4+La=r4

I
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What are the scopes of retailing?
Explain the functions of a
retaitrer in a competitive business
environment.

ls I

qfur / or

(b) 'u{t {K{Ifr' lfuE fr Tqt? -ry{-
3r{t {--frlr {e< B.{T{< <lr< frer
TF<M{,q qrFIIFtf S<l I

What do You understand bY the
term ?etailer? Discuss the various
reasons for growth of retail sector in

4. (a) sFc-<dq UEt <J.fiF< g6n gTKr{{ <'fql

ffifr

Describe the clifferent tYPes of
retailing in India'

a@/ or

14

t4

3F-{t <r<rErr 4RqbF-f qTe ftr 6K
Er q{l-6Fr-eft-r Snqf <1<{l{-{ rlqo
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What are the organizational
strucfures of retail stores?
Differentiate between store and
non- store-based retailing.

s. (a) EW$
ffiD
srtt

Gr{\-c{-$:

flcqI{'t.{
$le ft 1ei?

G{qrrEtr qt(Efwt

4+1O=14

14

What do you understand bY the
term logistics management?
Discuss the elements of logistics
management.

dqfl Or

(b) etx-<qe& ftz Urr <r<Tttc ?-{F qErqls

{-fl6 qrfl5-{I T-{l I

What is warehousing? Discuss its
beneht in retailing.

6. (a) U<I <ITTI{ ?tsT C6flqaT q<l qlcEID-{I sqt I

EF-e=d< e-{t <IfilT {e< <-6TEr {r{I

Discuss the global trends of retail
sector. Explain the recent trend in
Indian retail sector.

+
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qfut / or

(b) EM ffiE d,F $15'si-{<{Bs{F 6r.f,
sqnPrs g,<t v<rft Emitrt a&Srr+ fr"Iq
{F<-qfu-{ vsr< qlsq rr< I g.l"]rt +Rt I 14

India being the land of crores of
oeople, yet retail industry is facing
the shortage of skilled manpower.
Explain.

17l
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